U-3 SKIMMER
REPLACEMENT PARTS

STA-RITE
- L
Item Part No. Description

U-3 SKIMMER PARTS

Lid and Collar - White
1 08650-0169  \11del 09655-2403, 09655-2404)

Lid and Collar - Tan
(Model 09655-1403, 09655-1404)

1 08650-0159

1 08650-0169C Lid and Collar (Gray)
08650-0007Z Basket and Handle
08650-0079  Float Assembly with O-Ring '
35505-1273  Float O-Ring Only '

08655-0017 Check Valve '

2

3

4

5

6 08650-0022 Hinged Weir Assembly

6 516442 ° Hinged Weir Assembly - Brite white
7 37207-0027 Screw, #8 x 1/2in. "

8

08650-0048Z Trimmer Plate '

37207-0825 Screw, #8 x 3/8 in. Pan Head
08650-0018 Weir Bumper

08650-0067 Basket Handle Only

Reducer, 2 x 1-1/2 in. NPT

U78-820P  \1odel 09655-1403, 09655-2403)

Reducer, 2 x 1-1/2 in. Slip

U78-858P  \1odel 09655-1404, 09655-2404)

U9-366 Gasket 2

Screw, #12-14 x 1 in. Flat Head (Model
09655-1404, 09655-2403, 09655-2404)

Screw, #12-14 x 1-1/2 in. Flat Head
(Model 09655-1403)

37416-0004

37416-0005

U36-105SS  Nut, Hex #10-24 2
WC2-8P Face Plate ?
09655-0010  Skimmer Spacer Block 2

" For use on Residential 2 For Use on Vinyl Liner
08650-0042 Vacuum Plate '
U-3 Skimmer Models. Skimmers. uu
Must purchase if skimmer . WC37-503P  Skimmer Extension Collar 2
. 3 For skimmers purchased
does not come with a
after July 2012.

float.

Item Part No. Description
1 08650-0058 Lid Only (White)
1 08650-0158  Lid Only (Tan)

1 08650-0058C Lid Only (Gray)
08650-0025 Collar Only (White)
08650-0125 Collar Only (Tan)

08650-0025C Collar Only (Gray)

CALIFORNIA PROPOSITION 65 WARNING

w N NN

08650-0069 Hardware

A\WARNING: Cancer and Reproductive Harm.
A\ AVERTISSEMENT: Peut Causer le Cancer

et des Dommages au Systéme Reproducteur.
A\ ADVERTENCIA: Cancer y Dafio Reproductivo.

www.pB5warnings ca.gov. Product on pages 280-281.






